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Question No. 1
Which of the following statements is FALSE?
1. Focal length of a convex lens is positive.
2. Focal length of a concave lens is negative.
3. All measurements to the right of the optic centre are positive.
4. All measurements to the left of the optic centre are positive.

A)Statement 1 only B) Statement 2 only
C)Statement 4 only D)Statement 3 only
fawT Fuat F F Fla @ T §?

1. 3 o T BT gl UAHT Bt ¢

2. 39de o B BIHE g HUNCHS gl

3. UM g F gI$ 3 fr T A gAeHS B g

4, HNT Fg F T2 3K F T A AT g &

AYdad FHUT 1 B)shddl U 2
C)ahdel ST 4 D)shdel T 3
Answer Key : C Your Response : D (Wrong)

Question No. 2
A man started from a place. After walking a kilometer, he turns left. Then walking for half a kilometer, he
again turns left. He is going eastwards. Towards which direction did he start?
A)South B) East
C)West D)North

T oIfed T SHIE A Tolell YE FcT §| Toh Fhelleliet Teiel & TG, ag ¢ F3cm g1 BT 3mem fhelidiet Tem
% dT¢, 9§ YeT: S1¢ {3l §1 96 q4 T 3 S @I g1 A, 36 ad F e fawr & ol gqw fRar ar?

A)eieroT B)qd
C)ufas D)3k
Answer Key : C Your Response : B (Wrong)

Question No. 3
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How many triangles are there in the given figure?

L

10

C) D)

19

& o s 2 Rt g ¥

L

A B
) 10 )
15
C) D) 12
19
Answer Key : D Your Response : B (Wrong)

Question No. 4
‘A sells a suitcase to 'B' at 10% profit. ‘B’ sells it to 'C' at 30% profit for Rs.2860. What is the cost price for ‘A”?
A)Rs.2200 B)Rs.1000
C)Rs.2000 D)Rs.1600

'A' 10% F oS R 'B' F UH FeHH S°ar gl ‘B ‘T C' ' 30% N W T.2860 H S=w gl 'A' F AT HT

AT F E?

A)T. 2200 B)%. 1000

C)%. 2000 D)%. 1600

Answer Key : C Your Response : C (Correct)

Question No. 5
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Complete the series.

A C,AEAGALA,(.)

A)K B)P
c)Q D)N
Aoft T qut

A C,AEAGAIA ()

A)K B)P
c)Q D)N
Answer Key : A Your Response : A (Correct)

Question No. 6

Where are the Elephanta Caves located?

A)Jaipur B)Bengaluru

C)Mumbai D)Konark

wferber T Ee Fwel T §2

A)STIR B)s9Te[®

C)gFas D) EaMic

Answer Key : C Your Response : Not Answered

Question No. 7
Sum of numerator and denominator of a fraction is 13. Adding 3 and 9 to the numerator and denominator
respectively, the fraction becomes 2/3. What is the product of the numerator and denominator of the original

fraction?
A)30 B)24
C)45 D)42

ot et & 3fer 3iX & &7 At 13 {1 3ier 3R & # e 3 3R 9 Ase W, e # AR 2/3 @ S §
el =T & 3T 3 G T JUTThel FAT ERM?

A)30 B)24
C)45 D)42
Answer Key : D Your Response : D (Correct)

Question No. 8
If8#2@4=12and5#4 @ 2 = 18, then what will be 4 # 8 @ 3?
A)13 B)32
C)26 D)29

IR 8#2@4=123R5#4@2=18% dAr 4 # 8 @ 3 I A A AT

A)13 B)32
C)26 D)29
Answer Key : D Your Response : D (Correct)

Top
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When the number 42 is misread as 24, what is the percentage error?
A)28% B)55.34%
C)42.86% D)18%

SIS AT 42 F ok ¥ 24 v for e, ar wiowre R F=aw el

A)28% B)55.34%
C)42.86% D)18%
Answer Key : C Your Response : C (Correct)

Question No. 10
A sum of Rs.16400 is borrowed to be paid back in 2 years by equal payments allowing 5% Compound
Interest. Find the annual payment.
A)Rs.7590 B)Rs.8820
C)Rs.7495 D)Rs.7600

©.16400 #Hr TRY 38R o IR § 3N 5/ 5% TG U i X § FAW aiffw Feat 7 2 aut F gowrw
ST &1 aif¥es speraer i i w1 AT

A)%.7590 B)%.8820
C)%.7495 D)%.7600
Answer Key : B Your Response : Not Answered

Question No. 11

Complete the series.

458, 435, 415, 398, 384, (...)

A)358 B)382
C)373 D)327
Soft & qut

458, 435, 415, 398, 384, (.)

A)358 B)382
C)373 D)327
Answer Key : C Your Response : C (Correct)

Question No. 12

Find the missing number in the following series.
1, 6,15, (..), 45, 66, 91

A)28 B)25
C)26 D)27
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fAFfaf@d Aol & Jod wear Ad Hifew

1, 6, 15, (..), 45, 66, 91

A)28 B)25
C)26 D)27
Answer Key : A Your Response : A (Correct)

Question No. 13
When is 'National Sports Day' celebrated?
A)July 27 B) November 12
C)August 15 D)August 29

TET W Raq' d FAART S §7

A)27 Fere B)12 sTdsR
C)15 31red D)29 3TET
Answer Key : D Your Response : Not Answered

Question No. 14
If time upstream = n x time downstream and speed in still water is 'x' and speed of stream is 'y, then find x :
y.
A)n/2 B)(n-1)/(n+1)
C)n/(n-1) D)(n+1)/(n-1)

I aRT & 9T er #F fOFr 7= §HT = n x 9RT A w7 forr = gy € 3N o o F =ner o3
RT T AT Y, §, O X 1y F AR AT R0

A)n/2 B)(n - 1)/(n + 1)
C)n/(n - 1) D)(n + 1)/(n - 1)
Answer Key : D Your Response : D (Correct)

Question No. 15
Who was first Indian to be elected as the President of the United Nations?
A)Sarojini Naidu B) Indira Gandhi
C)Vijayalakshmi Pandit D)Annie Besant

TGFT WE & Togafal F T F ¥ ST e T ARAT FHler A2

AT a1 B)sfeer amelr
C)fasrgers#r dfsd D)Uell ST
Answer Key : C Your Response : C (Correct)

Question No. 16
Find the value of cos(A + B), if tan A = 3/4 and tan B = 5/12 and A and B are in quadrant I.
A)33/65 B)15/48
C)16/65 D)1

cos(A + B) FT AT AT Y, I tan A = 3/4 3 tan B = 5/12 31K A 31K B e aqaier | 3 g

A)33/65 B)15/48 Top



C)16/65 D)1

Answer Key : A Your Response : A (Correct)

Question No. 17
Find the greatest number that can be formed out of the digits 9,0, 8,7, 9.
A)90987 B)98970
C)99780 D)99870

3% 9,0, 8 7,9 W I dlell T F3r HE&AT AT Hl

A)90987 B)98970
C)99780 D)99870
Answer Key : D Your Response : D (Correct)

Question No. 18

Iftan A+tanB =aandcot A+cotB =bh,then1/a-1/bisequalto_.

A)sin(A + B) B)tan(A + B)

C)cot(A + B) D)cos(A + B)

gfg tan A + tan B = a 3iW cot A + cot B = b, & 1/a - 1/b, F TR &l

A)sin(A + B) B)tan(A + B)

C)cot(A + B) D)cos(A + B)

Answer Key : C Your Response : C (Correct)
Question No. 19

The pupil is a part of-

A)Eye B) Gall Bladder

C)Kidney D)Bone Marrow

el = T R g

A)T@ B) fredrerr

C)a;m‘r D)3y Hsat

Answer Key : A Your Response : A (Correct)
Question No. 20

Jaundice is a disease of the

A)Liver B)Eye

C)Lung D)Heart

iforr #r v A R

A)TFHd B)3it@

C) st D)z

Answer Key : A Your Response : A (Correct)

Question No. 21
Which of these medical instruments usually has a metal needle attached to it?
A)Spatula B) Stethoscope
C)Thermometry D)Syringe

Top
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A)ergeT (Spatula) B) T &R
C)amfafa (Thermometry) DR

Answer Key : D Your Response : D (Correct)

Question No. 22

The Union Home Secretary of India recently launched an online portal named for the grant of

security clearance.
A)"e-Clearance” B) "e-Security”
C)"e-Filing" D)"e-Sahaj"

AR F F I AT o g & F JGUOT Sita A egHia o & AT AT & TS etz G o
forar ami

A)s-TFermiy B)s-fargRér
C)g-wrsfeiar D)$-TEa
Answer Key : D Your Response : Not Answered

Question No. 23

Non-metals like sulphur and chlorine are foundonthe ____ of the periodic table.
A)Zig-zag B) Left hand side

C)Middle D)Right-hand side

T 3R T Sl syt wRoh or§ s ¥

A)fads FuE w” B)aIg 3R

C)Aey & D)&r$ 3R

Answer Key : D Your Response : D (Correct)

Question No. 24
Which of the following reactions is an example of endothermic reaction?
A)Burning of natural gas B) Decomposition of ferrous sulphate
C)Dilution of sulphuric acid D)Dissolution of sodium hydroxide in water

frfaf@a F @ Fla @ 3PfFar, Fsarnd 3T F1 vw 3erRTT §7?

A) i 3 T STl B)URH HeAhT T 3TTECH
C)HeHgReh TS &1 oo D)t & HITSTA BISSIFHSS HT Holell
Answer Key : B Your Response : B (Correct)

Question No. 25
Find the average speed when the first half of a journey is done at a speed of 60 km/h and the second half at
a speed of 40 km/h.
A)52 km/h B)45 km/h
C)50 km/h D)48 km/h

Stq fRer AmET T gger 3T Ser 60 freivder 3T qERT Jmer ster 40 fRHider Fr wer § a7 BT ST g
3wer =mer T Al

A)52 fret/Eer B)45 ferafl/eer
C)50 frefi/erer D)48 ferali/erer
Answer Key : D Your Response : D (Correct)
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In a certain code language, 'TELEPHONE' is written as 'ENOHPELET'. How is 'ALIGATOR' written in that code?
A)ROTAGILA B)ROTEGILA
C)ROTAGILE D)ROTAGIAL

wh fAfRea gesmr #, 'TELEPHONE' & 'ENOHPELET' fa@r Sirar §1 3¢ fesr & 'ALIGATOR' & &&
for@r Srwem?

A)ROTAGILA B)ROTEGILA
C)ROTAGILE D)ROTAGIAL
Answer Key : A Your Response : A (Correct)

Question No. 27
The Simple Interest on a certain sum at the rate of 5% per annum for 3 years is Rs.1260. Find the Compound
Interest for that sum at the same rate and for the same period.
A)Rs.1448.05 B)Rs.1384.05
C)Rs.1428.05 D)Rs.1324.05

T ARET IR W 5% aif¥e T W 3 a¥ 1 ArIRT SIS $.1260 &1 38 TR W §H7 9 T W A 319

T Whalg SATS A HlfoiC|

A)%.1448.05 B)%.1384.05

C)%.1428.05 D)%.1324.05

Answer Key : D Your Response : D (Correct)

Question No. 28
The electron distribution in an aluminium atom is-
A)2,8,2 B)2,8,3
C)2,3,8 D)8, 2,3

TS RAT] F Tl HT el [&AeRoT FleT A §2

A2, 8, 2 B)2, 8, 3
C)2, 3, 8 D)8, 2, 3
Answer Key : B Your Response : Not Answered

Question No. 29
In a certain code, 'JOVIAL is written as 'NQZKEN'. How would 'FIGURE' be written in that code?
A)JKKWVG B) JKKWGV
C)JKWKVG D)JKKVWG

v fafea Feemr 3, JOVIAL' #t 'NQZKEN' forar siar §1 33 fesmr & 'FIGURE' #r &% famr smeem?

A)JKKWVG B)JKKWGV
C)JKWKVG D)JKKVWG
Answer Key : A Your Response : A (Correct)

Question No. 30
The protein in haemoglobin is-
A)Globin B) Globulin
C)Haem D)Albumin

Top
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A)TelTieeT B)7eltegforeT
C)d= D)Ted T

Answer Key : A Your Response : Not Answered

Question No. 31

Solveforxandy: 9x+3y+12=0;18x+ 6y+24 =0

A)x=1;y=7 B)x=2;y=-10
C)x=4;y=-16 D)No unique solution. There are infinitely many
solutions

PfeRT TRt Arga mF x IRy FAG AT AT : 9x + 3y + 12 =0 ; 18x + 6y+ 24 = 0

Ax=1;y=7 Bl x=2;y=-10
Answer Key : D Your Response : D (Correct)

Question No. 32
Which of the following is India's first indigenous nuclear ballistic missile submarine?
A)INS Sindhugosh B) INS Arihant
C)INS Kalvari D)INS Shalki

AR $r Tl TRl ] dfRfer Prame wwgsd Refaf@a F ¥ @l @ 32

A)INS feeeny B)INS 3iREd
C)INS @orady D)INS ermeshr
Answer Key : B Your Response : Not Answered

Question No. 33
If 832.58 - 242.31 = 779.84 - 3, find the value of 'a'.
A)199.57 B)189.57
C)295.05 D)179.57

i 832.58 - 242.31 = 779.84 - a §, a 'a' F AT AT HfoT]

A)199.57 B)189.57
C)295.05 D)179.57
Answer Key : B Your Response : B (Correct)

Question No. 34
Find the HCF of 2 x 32x 52, 5 x 3 x 22 and 52 x 3 x 22,
A)30 B)90
C)60 D)150

2 x 32 x5 5x 3 x 223 52 x 3 x 22 AA.T (HCF) d H|

A)30 B)90
C)60 D)150
Answer Key : A Your Response : A (Correct)

Question No. 35
Which of the following is used as an antiseptic to sterilise wounds and syringes in hospitals?
A)Methanol B) Propanol
C)Ethyl alcohol D)Butanol

Top



fAefaf@a 7 & fraer s9er sveqaret 7 et ik @Re & WnoERE & Qv W@ates & & F fmr

ST 82
A) AT
C)3UTSe 3Hoahigel

Answer Key : C

Your Response : C (Correct)

Question No. 36

Find the ODD one out from the given options.

A)APQ
C)BJV

R e Redt # & IR @ I
A)APQ

C)BJV

Answer Key : B

Complete the series.

4,5,8,15,30, (..
A)78
C)61

Soft @ qut &

4, 5, 8, 15, 30, (.)
A)78

C)61

Answer Key : C

When atoms bond together chemically,
A)Element
C)Molecules

TTHAIY] TS T § FRT
A)ded

C)BTU;F

Answer Key : C

B)LCI
D)DTJ

B)LCI
D)DTJ

Your Response : Not Answered

Question No. 37

B)72
D)69

Your Response : C (Correct)

Question No. 38
are formed.
B)Alloys
D)Both element and alloys

g S €
B)sremg
D)dca 3R fsreng @it

Your Response : C (Correct)

Question No. 39

With which of the following is the term 'Olfactory’ associated?

A)Smell
C)Hear

B)See
D)Feel

Top
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A)arer B)zfe
C)&|oT D)Taet

Answer Key : A Your Response : A (Correct)

Question No. 40

CE-20 is a/an that was developed by ISRO .

A)Aircraft carrier B) Main battle tank

C)High thrust cryogenic engine D)Multirole fighter aircraft
CE-20 U= & o9 ISRO @t fawfla fmar arr |

A)aTgTeT dlgeh it B)HET gg

C)3Td Uulg(thrust) RIS Satet D)sguiel o3t faeme

Answer Key : C ) Your Response : Not Answered

Question No. 41
Choose from the alternatives the figure that best completes the

pattern given below.

D

A) B)

0 ‘ D)

fgw arv Beredt & @ 37 iy g4, & A RE aw ST Q@
Gl

0 ‘ D)

Top



Answer Key : A Your Response : A (Correct)

Question No. 42
Which medical technique is used to find out stones in kidney and gall bladder, which is also used for
examining the foetus during pregnancy?
A)Electrocardiography B) Echocardiography
C)Magnetic resonance imaging D)Ultrasonography

7§ 3R e & A # g @ F v R R awels w1 3wEer fRr siar § S sier
Tefiaear & SRreT apoT Y S & forw o R Smar 87

INEGEEAIERIDIR TS B)SehiehTTS AT
C)gFeshy  3ifalle  YfAfsor  (Magnetic ~ resonanceD)3Teg=TamhT
imaging)
Answer Key : D Your Response : D (Correct)

Question No. 43
Which of the following Articles in the Constitution grants us the Right to Equality?
A)Article 32 B) Article 23-24
C)Article 368 D)Article 14-18

Hiemer @ foeet srepeoe F @ e A1 g wHAETar 7 3R T 82

A)3iede 32 B) 3Tz 23-24
C)3rfeda 368 D)3ifese 14-18
Answer Key : D Your Response : Not Answered

Question No. 44

Choose the alternative that best replaces the question mark(?) in the

given figure.
3] 6 7 5
18 ? 27
4
A) B)
39 41
2 32 ) 27

Top



30 feeT &1 939 W, S AR A weT FEd (7) F Tue W
A % AT Hafead 39T 2l

3] 6 7 8 9 5
W v Y
1 2 4
A) B)
39 41
% 30 " o7
Answer Key : A Your Response : Not Answered

Question No. 45
Three friends—P, Q and R are living in the same locality. The house of Q is to the east of P's house, and R's
house is to the south of P's house. What is the direction of R's house with respect to Q's house?
A)North west B) South
C)North D)South west

AT TP, QIRRFAFTHF ATRE QFRPFRF G HE IR R F WP F W& g
#E QF W F g F R & °v Fir fer = 22

A)3caR afRa#d B)&faior
C)3c D)zfaror ufegH
Answer Key : D Your Response : D (Correct)

Question No. 46
Interest on Rs.800 in 3 years at 4% Simple Interest equals twice the interest on Rs.300 at 8% in 'n' years,
then find 'n'.
A)3 B)4
C)2 D)1.5

4% WTHROT sATST AT T 9T §. 800 & UM W 3 a¥ F @& el A, 8% TTHRUT sATST ST &7 W F. 300
AR /'’ 3§ F o a ST F PR F WK g, o '’ H AW AT RS0l

A)3 B)4
C)2 D)1.5
Answer Key : C Your Response : C (Correct)

Question No. 47

Top



Read the following information carefully and answer the question given below.

Eight colleagues—A, B, C, D, E, F, G and H are sitting around a circular table facing the center but not
necessarily in the same order. Each one of them holds a different post—Manager, Secretary, Chairman,
President, Vice President, Group Leader, Financial Advisor and Managing Director.

A sits third to the right of the Managing Director, and only two people sit between the Managing Director and
H. The Vice President and the Secretary are immediate neighbours. Neither A nor H is a Vice President or a
Secretary. The Vice President is not an immediate neighbour of the Managing Director. The Manager sits
second to the left of E. E is not an immediate neighbour of H. The Manager is an immediate neighbour of
both the Group Leader and the Financial Advisor. The Financial Advisor sits third to the right of B. B is not
the Vice President. C sits to the immediate right of the Chairman. A is not the Chairman. F is not an
immediate neighbour of A. G is not an immediate neighbour of the Manager.

Who among the following sits third to the left of E?
A)Vice President B) Secretary
C)Financial Advisor D)President

A& SR & e & 9¢ 3K A Be 31w 92s &7 3ca¥ <)

35 WeFH - A, B, C, D, E, F, G 3R H & JeadR A1 & art 3R 38F Fx 9 3% o =& 8 § By
gt % F aft § 39 ¥ TAF IOE Aol - YOS, WRG, UG, eAw, IR, 9 AR, Ao
FEHR UF Y§eT s & U W gl

A, 9 R F ¥ ¥ Y T W o1 §, 3 sy s vd H & i F Faa o @er 88 §1 surewst
IR aRT FFeasw =R & A 3T H & @ 1S st 3urewey ar afRg a8 &1 3urewsy, yaey Aeus #1 Recan
TSRl 7 &1 wEuF E & a1 3R g@Y T W dor ¥l E, H 7 Fwead Rl 78 &) 6w, 9 9w v
e aomEsR, el @ Aecar R §1 ey goesR, B & g 3R W ®a W dor §1 B, 3umewsy
& &1 C, AalT & ¥ 3N UheH worel i o7 &1 A, DT A& &1 F, A o epeas Sk 7€ &1 G,
Yeth T Aehead qe 8 8

fAmfaf@d & @ #ia E & 918 3K drat | W) der 82

A)3aregat B)afaa
C)facdr Felrgshk D)37esT
Answer Key : C Your Response : Not Answered

Question No. 48
Find the total surface area of a hemispherical bowl of thickness 'd’ and internal radius 'r'.
A)ri(4r? + 3rd + d?) B)4mr? + 4mrd + 3d?

C)4tu? + émrd + 3d? D)m(4r? + érd + 3d?)

Arers 'd' 3R Al Bswr v arer o iR FER F O S AT hifre]

A)m(4r? + 3rd + d?) B)4nr? + 4rrd + 3d?
C)4T[l'2 + 6mnrd + 3d? D)T[(4r'2 + 6rd + 3d2)
Answer Key : D Your Response : D (Correct)
Question No. 49 TOp

In which phase of the moon, is the moon invisible?



A)Gibbous moon B) Full moon
C)New moon D)Crescent moon

UGHAT Fr TR e F, AT e giar &7

A)3eTdieT Tog B)qUT e
C)3tdaTgEar D)3—]i§€|o—a
Answer Key : C Your Response : Not Answered

Question No. 50

The formula of current | = [time (1).

A)Charge (Q) B) Resistance (R)

C)Volt (V) D)Power (P)
gaawrarggl=__ /&= @17l

A)3TaTr (Q) B)yufaier (R)

C)diee (V) D)arfFa (P)

Answer Key : A Your Response : A (Correct)

Question No. 51
Edges of a cuboid are in the ratio 1 : 2 : 3. Its surface area is 88 cm?. What is its volume?
A)48 cm? B)120 cm?
C)24 cm? D)64 cm?

T G F AT 1: 2: 3 F I H T sHH TOT aAwer 88 2 ¥, a WA AT AT Ao

A)48 B B)120 ¥#3
C)24 T3 D)64 {13
Answer Key : A Your Response : A (Correct)

Question No. 52

Find the equivalent fraction pairs from the following fractions.

2/5, 8/11, 42/63, 57/33, 48/120, 2/3
A)(2/5, 48/120) and (42/63, 2/3) B)(2/5,8/11)
C)(2/5, 48/120) D)(42/63, 2/3)

frfef@d Bieil & FAged et 77 1d #

2/5, 8/11, 42/63, 57/33, 48/120, 2/3

A)(2/5, 48/120) 3R (42/63, 2/3) B)(2/5, 8/11)
C)(2/5, 48/120) D)(42/63, 2/3)
Answer Key : A Your Response : A (Correct)

Question No. 53
A train running at a speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the train?
A)150 m B)324 m

C)180 m D)120 m
Top



60 Frelieicy/ weT & I1f & Telel arell T YeESr T Oiel HF 9 Ahs F IR ol g1 ST Y oiars et 872

A)150 HreX
C)180 #rex

Answer Key : A

B)324 FHrex
D)120 #ex

Your Response : A (Correct)

Question No. 54

Who was the first Indian to receive the Nobel Prize?

A)Mother Teresa
C)Har Gobind Khorana

B) Rabindranath Tagore
D)Amartya Sen

AT QRHPR WIST F& arel Too AR HieT 42

A)FET 3T
C)ex s TR
Answer Key : B

B){dlegstry 9T
D)3 I

Your Response : B (Correct)

Question No. 55

With which of the following sports is Koneru Humpy associated?

A)Hockey
C)Badminton

B)Chess
D)Golf

F® N fearfaf@a F & fre T & weft &2

A)gTehT
C)ssfFear

Answer Key : B

B) 2Tt
D)3leh

Your Response : Not Answered

Question No. 56

If doubling a number and adding 20 to the result gives the same answer as multiplying the number by 8 and

taking away 4 from the product, find the number.

A)3
C)4

B)6
D)2

Ife Rl AT Y QT FXH SEA 20 Slig W g ook A §, S SE G Y 8 W IO Fh JUThe

#H A 4 get W RAdar &, O & 7 a fiiaw|

A)3
C)4
Answer Key : C

What is the Sl unit of pressure?
A)Newton per metre N/ m
C)Newton N

g &I S| AFE F4T 87
A)egee gfd HlcT N / m
C)=gc=T N
Answer Key : B

The most abundant metal in the earth crust is-

B)6
D)2

Your Response : C (Correct)

Question No. 57

B) Pascal Pa
D)Newton metre N-m

B)dr&heT Pa
D)=ggsT Hiex N-m

Your Response : B (Correct)

uestion No. 58
Question No. 58 Top



A)Sodium B)Calcium
C)Aluminium D)Iron

IS 3 Tt wEX A F O T Al g i @ Ee

Ayaifsad B)&hferras
C)uegfafaas D)airer
Answer Key : C Your Response : C (Correct)

Question No. 59
Which of the following is NOT a root?
A)Radish B) Beetroot
C)Cabbage D) Turnip

fAfaf@a & & Fia a1 Fg (root) & &7

A)H B)gehex
C)Yecransiy D)<rofsTH
Answer Key : C Your Response : C (Correct)

Question No. 60
Simplify: 1.2x2.5x 0.5
A)150 B)15
C)1.5 D)0.15

A FL: 1.2 x 2.5 x 0.5

A)150 B)15
C)1.5 D)0.15
Answer Key : C Your Response : C (Correct)

Question No. 61
Which of the following is NOT a contagious disease?
A)Measles B) Influenza
C) Typhoid D)Arthritis

g F & ST & A9 dFHF a8 82

A)TET SESEE)
C)3 T X D)arfear
Answer Key : D Your Response : D (Correct)

Question No. 62
Which city is called 'The Pink City of India'?
A)Jodhpur B) Jaipur
C)Kalka D)Pathankot

e T A HRA & Terer e (R ) T ST 82

A)STEr DEEEY
C)aRTeTehT D)JaIAhic
Answer Key : B Your Response : B (Correct)

Top

Question No. 63



Which of these statements is NOT true?
A)Proteins denature at high temperature
C)Proteins are inactive at low temperatures

SoTd W e TT HUT T 18T &7
A)RIEET Fed ag WX faghd & S gl
C)Nda fF a9 W AfSHT g &

Answer Key : D

Complete the series.

5,6, 14, 45, 184, (...
A)925
C)902

Aoft T qut

5, 6, 14, 45, 184, (..)
A)925

C)902

Answer Key : A

B) Proteins denature by change in pH
D)Proteins are not affected by temperature

B)WIE, pH & 9Radiel gl R fashd &1 S &
D)IIET T & warfad #Er g &

Your Response : Not Answered

Question No. 64

B)876
D)917

B)876
D)917

Your Response : Not Answered

Question No. 65

Find the missing group of alphabets in the following series.

WC, CW, (...), MM, RH
A)WC
C)CW

B)MM
D)HR

fReafaf@a Aol & & Equieya 3R wHg w1 RS

WC, CW, (.), MM, RH
A)WC

C)CcW

Answer Key : D

Your Response : Not Answered

Question No. 66

A jar of milk contains 40% water. A part of it is replaced by another milk containing 19% water. Now the

percentage of water is 26%. What quantity of milk was replaced?

A)1/3
C)2/5

B)2/3
D)1/5

Y & Th SR F 40% Iei §1 39F UF REX FT q@¥ qU & oo GAr rar 8, O 19% 9 &1 3« afkdp
T gfaRrd 26% g1 & i frcel AT @Y ager @ ?



A)1/3 B)2/3
C)2/5 D)1/5

Answer Key : B Your Response : Not Answered

Question No. 67
A and B invest some amount in the ratio 3 : 5 in a business. After 6 months, C joins them with an investment
equal to that of B. In what ratio should the yearly profit be shared among A, B and C?
A)6:7:5 B)6:10:5
C)3:5:6 D)3:5:4

A 3R B TF =@ & 3: 5 & U F Fo TR @G w §1 6 T F 916, C FyGw # B F TR
forder F& 3 Sar §1 aif¥ss oy @ A, B 3R C F & R gt F e fRar S anfke?

A6 :7:5 B)6:10:5
C)3:5:6 D)3:5:4
Answer Key : B Your Response : B (Correct)

Question No. 68
When was the Central Pollution Control Board constituted?
A)1974 B)1981
C)1986 D)1970

FEr sguor foiaor & it v w9 gs A

A)1974 B)1981
C)1986 D)1970
Answer Key : A Your Response : Not Answered

Question No. 69
In which part of the body is thyroid gland situated?
A)Head B)Abdomen
C)Throat D)Chest

IRRTES IR oK F BrE aT F Rug o &2

AT B)3eX
C)3relr D)Tcr
Answer Key : C Your Response : C (Correct)

Question No. 70

If 2x-1-Jx-4=2, then find the values of 'x".

A) B)

-13,-5 13,5

Top



C) D)

T f2x-1-/x-4 =2 &, & '’ T AT = Hifare|

A) B)
-13,-5 13,5
C) D)
6, -9 -13,5
Answer Key : B Your Response : B (Correct)

Question No. 71
Who among the following will be ICC's Chief Executive Officer after the 2019 World Cup?
A)Manu Sawhney B) Tom Harrison
C)Kevin Roberts D)Thabang Moroe

2019 frg & & a1 AFfAf@d # ¥ Fia AW 1 AET FEAFA AfWF gam?

A)HS HTE=T B)eiH gRaer
C)ehfaeT UacH D)Y&eT ART
Answer Key : A Your Response : Not Answered

Question No. 72

From where is the solar energy obtained?

A)Sea B)Sun

C)Stars D)Moon

" Tt F@l & wred g 87

A)'\EITJi!_,?;.r B)'\':Eﬁ'

Cyar D)<ig

Answer Key : B Your Response : B (Correct)

Question No. 73

Which number is a factor of all numbers?

A1 B)O
C)2 D)-1
Fler W wEar Wl WA 7 qUEEs g 82 Top

A)1 B)0



C)2 D)-1

Answer Key : A Your Response : A (Correct)
Question No. 74

Which of the following hockey players was awarded with Rajiv Gandhi Khel Ratna Award?

A)Leslie Claudius B) All of the options

C)Dhanraj Pillay D)Udham Singh

fef@a # & fra o TRemsT &t Teia it @9 W& R & Feiae B e

A)orFell Fallsad B)g=Te & gt
C)areTaT Mool D)3y &g
Answer Key : C Your Response : Not Answered

Question No. 75
The light rays that are used for eliminating bacteria in test tubes used in pathology labs are-
A)X-Rays B) Infrared rays
C)Microwave radiations D)Ultra Violet radiations

Hefailolt AT #F TPFT WEAe (ST TgE) # SNAmR Ft ¢ Fa & v g wemr fFor Sl @ §72

A) X-ferut B)3faerd feheor
C)AtssIda fafeor D)relaTedr fafentor
Answer Key : D Your Response : D (Correct)

Question No. 76

Blue litmus when added to an acidic solution changes to-

A)Red B) White

C)Violet D)Green

3TN e & 3 9 W A AT F1 1 age & S B
A)aTel B)d%e

C)dareir D)gxr

Answer Key : A Your Response : A (Correct)

Question No. 77
Compare rolling friction and sliding friction.
A)Rolling friction is either greater or equal to slidingB)Rolling friction is greater than sliding friction
friction
C)Rolling friction is smaller than the sliding friction ~ D)Rolling friction is always equal to sliding friction

drefas =907 (rolling friction) wa wdf &duT (sliding friction) #r gerer FfaT]
A)eef@® a¥or (rolling friction) ar & @l =¥uiB)eliefds @¥ur (rolling friction), @df =¥ur (sliding

(sliding friction) & 318/ AT 3% s&T &IaT &l friction) & 31f&r grar gl

C)diefas &vur (rolling friction), ¥4t &¥uT (slidingD)eliefa® @WoT  (rolling friction) g&em  @df  &or
friction) & et BT &1 (sliding friction) & SRT&R 8T &1

Answer Key : C Your Response : C (Correct)

Question No. 78
Total age of x and y is 15 years more than the sum of the ages of y and z. What is the value of (x - z)?
A)10 B)9

Top



)12 D)15

x ARy A F 3, y AR z H 3G & Aer § 15 a§ HWF 1 (x - 2) F AT T P2

A)10 B)9
C)12 D)15
Answer Key : D Your Response : D (Correct)

Question No. 79
Who was the first Indian woman to feature on an Indian stamp after 15 August 1947 ?
A)Kasturba Gandhi B)Meera Bai
C)Sarojini Naidu D)Rani Laxmibai

g% g AR AR i o, erhr ofF 15 3R 1947 & a1g dRAT e W AR Hr =2

A)FEIET Tl B)HRT ST
C)afatetr =g D)= I&HT a8
Answer Key : B Your Response : Not Answered

Question No. 80

In the following question, correct the equation by interchanging the two signs.
4x3-6+2+7=8

A)- and x B)+ and -
C)+and + D)x and =

frfaf@a wea #, o Rest f WER Jgast FHEoT H wgfod

4x3-6+2+7=8

A)- 3T x B)+ 3R -
C)+ 3 =+ D)x 3R =
Answer Key : B Your Response : B (Correct)

Question No. 81

Which number will best complete the relationship given below?

15:65::24:?
A)130 B)134
C)103 D)126

et W HE A BT T H BT A F O B

15:65::24 : 7

A)130 B)134
C)103 D)126
Answer Key : D Your Response : Not Answered

Question No. 82

Top



Find the value of tan 10° tan 15° tan 80° tan 75°.
A)1 B)2/3
C)1/3 D)1/2

tan 10° tan 15° tan 80° tan 75° & AT AT HLl

A)1 B)2/3
C)1/3 D)1/2
Answer Key : A Your Response : A (Correct)

Question No. 83

Read the following information carefully and answer the question given below.

Five friends A, B, C, D and E are sitting on a bench facing north. A is sitting next to B. D is sitting next to C. D
is not sitting with E. E is on the left end of the bench. C is on the second position from the right. A sits to the
right of B. A and C are sitting together.

Who is sitting in the middle of the bench?
AYA B)D
C)B D)C

frfaf@a Seer A eaa & 96 3R AR e sw wa & 3ew &)

ui @, A, B, C, D 3R E 3cR &I #Hg o U a9 W 43 §l A, B & S9rel # 3T g3 &1 D, C & vl H
o g3 &1 D, E & @ &7gt a7 ¢l E, &7 % a1 ek W 27 {1 C, a’ & g T W da7 51 A 3R C,
T /Y S E

8T F 9T F Fler Yor §?

A)A B)D

C)B D)C

Answer Key : A Your Response : A (Correct)

Question No. 84
Which type of lens is a natural lens present in the human eye?
A)Convex B)Concave
C)Bifocal D)Progressive

AeTq i 3 7 HAlog wpfaw ofF R TR F AT 87

A)3cde B)3tader
C)aTSthishel D)ygIfaa
Answer Key : A Your Response : A (Correct)

Question No. 85

The drying of milk of lime (white washing) is due to the action of-

A)Nitrogen in air B) Oxygen in air
C)Hydrogen in air D)CO; in air
T F U (JATS) F @A #r frar i aoE & & B Top

Ayarg # Hisg ATsere B)arg # Hisig 3iteredrster



C)arg # Hislg grggiele D)arg # @i CO,

Answer Key : D Your Response : Not Answered

Question No. 86
Which of the following attractive forces exists between different layers of graphite?
A)Vander Waals forces B) Gravitational forces
C)Columbic forces D)Electromagnetic forces

Ivrge i Rffe wat & drg Pl & § Fi9 ¥ o o Alsg &2

A)arT 3T ared ol B)[&carehyor ol
C)eellH T D)fdegd grahar o
Answer Key : A Your Response : A (Correct)

Question No. 87
An alarm was set at 11 AM on Monday on a clock that was set correctly at 1 AM on Sunday, but the clock
started gaining 20 seconds every 24 hours. What was the actual time when the alarm went off?
A)10:51:20 AM B)10:31:40 AM
C)11:30:00 AM D)10:30:00 AM

WHAER # gag 11 99 F AT v remt dc BFar ar—r or, S ar & Od 1 99 §@ S & A fwar oo,
AT T8 X 24 ©F F A1 20 WS T M| IORT Fo FT ARAfdE THT FAT AT?

A)9rd: 10:51:20 B)wra: 10:31:40

C)wra: 11:30 D)ure: 10:30

Answer Key : This Question is dropped and

Your Response : Not Answered
will not be consider during the evaluation

Question No. 88
Which of the following states of India is the largest producer of lignite coal?
A)Maharashtra B) Tamil Nadu
C)Guijarat D)Madhya Pradesh

HRA & 51 & FieT 6T Uo7 fAese FIaa F qO 37 Scree &2

A)HERTSE B)dfderIg
C)arericd D)FET Feer
Answer Key : B Your Response : D (Wrong)

Question No. 89
Which of the following transactions is the best when considering the corresponding profit percentage?
A)Cost price Rs.50, profit Rs.24 B) Cost price Rs.40, profit Rs.15
C)Cost price Rs.60, profit Rs.24 D)Cost price Rs.36, profit Rs.18

ot o ufaera & feare @ =afaf@a F @ wlea ar o & oo 82

INET Hed 2. 50, T T. 24 B)sr Hed 3. 40, oA 5. 15
C)mg Hed 2. 60, o T. 24 D)ysha Hed 2. 36, oI 3. 18
Answer Key : D Your Response : D (Correct)

Question No. 90

On what factor does the colour of scattered light depend upon? Top

A)The colour of the scattering particles B) The refractive index of the particles



C) The size of the scattering particles D)The amount of impurity

ThIOTT wehrer &1 o7 fF FRF W IR F:ar 82

A)TRITTTT &0 & T[T W B)&Ull & Uadelish I
C)YhoTT Fuil & 3P 9T D)3RIfg &I AR W
Answer Key : C Your Response : Not Answered

Question No. 91
If 14 * 64 = 39,25 * 37 = 31 and 9 * 17 = 13, then what will be 52 * 46?
A)49 B)51
C)42 D)38

Iy 14 » 64 = 39, 25 » 37 = 31 3 9 » 17 = 13 &, @ 52 * 46 F AW AT PAT|

A)49 B)51
C)42 D)38
Answer Key : A Your Response : Not Answered

Question No. 92
Sixteen women working 7 hours a day will complete a job in 48 days. How many women are needed to
complete the same job in 32 days working 12 hours a day?
A)14 B)12
C)17 D)10

Hieg AfeY, U FE A gfafee 7 6 F07 0 48 Ral F qu wwch §1 3@ Fo @ vl 12 9w
T 32 et F qU F F AT el Afensit v sraegwar gef?

A)14 B)12
C)17 D)10
Answer Key : A Your Response : A (Correct)

Question No. 93
Three of the following four of alphabets and numerals have the same relationship between their elements as
in the case of the pair ROUT : 5487 and hence form a group. Which of the following does not belong to the

group?
A)ROT : 587 B)TOR: 745
C)OUT : 487 D)OUR: 485

frrafafl@a a) F & i 3R 3R 3 F sragat & 9 F9T & WU § ST 9w ROUT: 5487 & § 3R 5@
YR U G S §| Reafar@a & § Hla @1 39 wopp & wefta 78 87

A)ROT : 587 B)TOR : 745
C)OUT : 487 D)OUR : 485
Answer Key : A Your Response : Not Answered

Question No. 94
According to law of refraction what is said about the incident ray, refracted ray and the normal to the
interface of two transparent media at the point of incidence?
A)All have the same length B) All lie in the same plane

C)All are refracted D)AIl have the same angle
Top



e & A & AR, afad for, svafdd fRor 3R muder g o &Y aredlt AreEt F ey W
oF & AN F FAT Fr S §?

A)Ts fr ders A gidr §1 B)@efr s & da H &1 &l
C)ash yafda g g1 D)@sfr T ST FATT g 1
Answer Key : B Your Response : B (Correct)

Question No. 95

Which number will best complete the relationship given below?

343:7::729:?
A)9 B)7
C)11 D)12

et @ T A RyT TC G T A F T

343 : 7 2729 : ?

A9 B)7
C)11 D)12
Answer Key : A Your Response : A (Correct)

Question No. 96

Find the ODD one out from the given options.

A) B)
Q
@__D
/ \
C) D)
©
U——D
[ S
T =1v Reredt & & 31 @ A
A)

Top



C) D)

Answer Key : A Your Response : Not Answered

Question No. 97
Which of the following is a chemical change?
A)Evaporation of alcohol B) Rusting of iron
C)Melting of ice D)Crushing a can

ffaf@a F & 9 a1 v TwRRE aRada &7

A)UehIgel I arsdienior B)elig & ST9T oT9T=AT
C)a% &1 Rrae=Ir D)fREY el I A AT
Answer Key : B Your Response : Not Answered

Question No. 98
The length of a rectangular plot is thrice its breadth. If the area of the rectangular plot is 867 m?, then what
is the length of the rectangular plot?
A)51Tm B)68 m
C)34m D)17 m

F HAAHR @S Fr oars sEeh s @ e e ¥ IR AR aq@s Fr &Ewe 867 Hiew? g, ar

AR @S T oars =T g2

A)51 #Hrex B)68 HieX

C)34 ez D)17 Hex

Answer Key : A Your Response : A (Correct)

Question No. 99
'A' is to the south east of 'C', 'B' is to the east of 'C' and north east of ‘A'. If 'D' is to the north of 'A' and north
west of 'B', then what is the direction of 'C' with respect to 'D'?
A)South east B) South west
C)North east D)North west

A,CHSRUI @AY B, CFEATINAFITR@AZTN IRD, AF3w AT AN B &
3cal IR H &, Y 'D' & WeT 'C' i foRw Far 82

AyaTEoT a8 B)af&oT e
C)3ceR qd D)3ccR qfaH
Answer Key : B Your Response : C (Wrong)

Question No. 100

Top



In the given figure, the circle represents writers, triangle represents
engineers, and square represents dancers. Which region represents
writers and dancers but not an engineers?

C

A) B)
G
D
Q) D)
C
E
Answer Key : B Your Response : B (Correct)
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